Find the value of the variables in each expr=ssJio .

a. t-1-21 = d 34+ |y =|739
Z a4 2
b, 53-v =+ e. s-32=5%

102 +t =12
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Find the value of the variables in each expr ss!io .
a, |t-nt= d. 2% +u=32
Z 4 20
To solve for t, let’s add 11 To solve for u,
to both sides of the expression. from both sides of the expression.
t=2+ 1L u=3J1<2 - 23
Z 20 Z
t=(2+1)= u=(3-2) 9.3
20 |4
=30 905 =14 1L
20
™ 7 ] I
= 1 = 11—
_So,t=31 ) ((So,u=1 517
b, 53-v =+ e. s-32=5%
To solve for v, let’s add v to To solve for s, let’s add 3—:—
both sides of the expression to both sides oflthe expression
Sl=1 4y =55 +356
4 2 S
Now, let’s subtract % from _both sides
S =y s= (5+3)6 +.6
= 8
= (5) B3 _ 1 4 qi2 _ y L
3 2 b 5-1— ~ - ~N
4 - -
7~ : (\SO’ S = 9% J
kSo, v=5L1
3-;— =5 f 'IO-E— +t =12
To solve for w, let's add 3-- To solve for t, let’s subtract 10 %
to both sides of/the expression from both sides of the expression
wF5+3-L t=12/-10 %
W= (5+3)+ t = (12-10) 2
w =8~ =22
S S
e 7~ L
&So,w=8%j kSo,t=2%)

© http://mathskills4kids.com



	20.complete-addition-and-subtraction-sentences-with-mixed-numbers_jkinkj-01
	20.complete-addition-and-subtraction-sentences-with-mixed-numbers_jkinkj-02

